
tYpe De VeLO / BiCYCLe tYpe
tout-suspendu cross country / marathon 
/ cross country / marathon full suspension mountain bicycle  

MateriaU DU CaDre / FraMe MateriaL
NEC+ULTRA SL (Aluminium 6061 Triple Butted)

DeBatteMent De La SUSpenSiOn arriere 
/ rear SUSpenSiOn traVeL
100mm

entraXe De L’aMOrtiSSeUr/COUrSe 
/ ShOCK  LenGth/StrOKe
165x38mm

COMpatiBLe aVeC aMOrtiSSeUr a BOnBOnne 
/ piGGYBaCK ShOCK COMpatiBLe
non / no

DiMenSiOnS DeS BaGUeS De L’aMOrtiSSeUr 
/ ShOCK SpaCer DiMenSiOnS
22,2x8mm

haUteUr De FOUrChe preCOniSee/MaXi 
/ reCOMMenDeD FOrK heiGht/ MaX heiGht
470 / 490mm

DiMenSiOn De La DOUiLLe De DireCtiOn 
/ heaDSet DiMenSiOn
1”1/8 

tYpe DU JeU De DireCtiOn / heaDSet tYpe
jeu de direction intégré type campa 45°X45° 
/ integrated headset CAMPA STD 45°x45° 

StanDarD De FiXatiOn De L’etrier De Frein 
/ DiSC BraKe StanDarD
international standard

DiaMetre De DiSQUe MaXiMUM arriere 
/ MaX rear DiSC/rOtOr SiZe 
160mm

DiaMetre tiGe De SeLLe/COLLier De SeLLe 
/ SeatpOSt/Seat CLaMp DiaMeter
 31,6mm / 34,9mm 

LarGeUr DU BOitier De peDaLier 
/ BOttOM BraCKet WiDth
68mm BSA

patte De FiXatiOn iSCG / iSCG MOUntS/StanDarD
non / no

tYpe De Der. aVant / FrOnt MeCh tYpe
collier haut 34,9 mm / tirage bas
/ down swing 34,9 /down pull

COMpatiBiLite DU MOYeU arriere 
/ rear hUB COMpatiBiLitY
135mmX10mm

eL CaMinO S

FICHE TECHNIQUE
TECHNICAL SPEC SHEET

SAG optimum

SAG mini

SAG maxi

15%

10%

20%

159mm

161mm

157mm

Ce réglage vous garantit un fonctionnement optimum adapté à tous types de 
terrains. / This adjustment will give you optimal performance in all types of terrain.

Ce réglage vous garantit une suspension plus ferme adaptée à des parcours 
roulants. / This adjustment will give you firmer suspension, suitable for rolling terrain.

Ce réglage vous garantit une suspension plus confortable adaptée à des parcours 
cassants. / This adjustment will give you softer suspension, suitable for rougher terrain.

TABLEAU DE REGLAGE DU 
CONTACT SYSTEM  
On appelle SAG, la valeur de l’enfoncement de l’amortisseur 
lorsque le pilote s’assoit sur le vélo à l’arrêt. Ici le SAG est 
exprimé en % de la course totale de l’amortisseur. La 
distance axe-axe de l’amortisseur est celle que l’on doit  
obtenir une fois le pilote assis sur le vélo. Pour ajuster vos 
suspensions reportez vous à la fiche de réglage des suspensions  
et comparez la distance obtenue avec celles préconisées 
dans le tableau ci-dessous.

EL CAMINO S SAG % Distance axe-axe de 
l’amortisseur
/ Axle-to-axle distance

Remarques / Comments

Sag is the shock compression value when the rider sits on 
the bicycle at a standstill. In this case sag is expressed in a 
percentage value of the total travel of the rear shock. The 
axle-to-axle value should be obtained with the rider seated on 
the bicycle. Adjustment of your suspension using the Contact 
System adjustment table should be done while referring  
to the suspension adjustment sheet delivered with your bicycle. 

CONTACT SYSTEM 
ADJUSTEMENT TABLE

Elc
a

m
ino

GEOMETRIE/GEOMETRY

4

6

1

2

7
8

5

3

9

CHARTE DE 
TAILLES /

SIZING CHART

S
400mm

74°

69,5°

115mm

1069mm

560mm

425mm

-12mm

470mm

M
450mm

74°

69,5°

120mm

1094mm

585mm

425mm

-12mm

470mm

L
500mm

74°

69,5°

130mm

1115mm

605mm

425mm

-12mm

470mm

XL
530mm

74°

69,5°

135mm

1185mm

625mm

428mm

-12mm

470mm

EL CAMINO S

taiLLeS / SiZeS 
1_LONGUEUR DE TUBE DE SELLE / seaT Tube lengTh
2_ANGLE DE TUBE DE SELLE / seaT Tube angle
3_ANGLE DE DIRECTION / head Tube angle
4_HAUTEUR DE DOUILLE / head Tube lengTh
5_EMPATTEMENT / Wheelbase
6_LONGUEUR DE TUBE SUPERIEUR / TOp Tube lengTh
7_LONGUEUR DE BASES / Chain sTay lengTh
8_HAUTEUR DE BOITIER / bb heighT
9_HAUTEUR DE FOURCHE /  fOrk lengTh

VELOS/
BIKES

S
M
L

XL

Taille (m)/
Height (m)

1,53 > 1,68
1,68 > 1,78
1,78 > 1,88

> 1,88

Taille (en ”)
Height 
(feet/inch.)
5’ > 5’’’
5’6’’ > 5’10’’
5’10’’ > 6’2’’

> 6’2’’

entrejam. maxi(cm)
max ins. leg(cm)

74,3
83,6
92,9
98,5

entrejambe maxi(”)
max inside leg 
(feet/inch.)
29,3
32,9
36,6
38,8

p.177 / dEalEr BooK 013

S



PIECES DETACHEES
SPARE PARTS

PIECES DETACHEES
SPARE PARTS

5

2

3

4

1

6

7

8

9

10

11

12

13

14

15

16

1 x spacer diabolo 50mm for Meta/Super 4 2009

4 x bearing : 608-2RS (8 x 22 x 7mm)

1 x rocker linkage Super 4 (left & right)

KIT CONTENTS KIT NAME REFERENCEITEM

1 x spacer for Meta 2009 & SUPER 4 2009 Ø11,2 x 50mm

2 x axles : Ø10 x 16 M6

2 x bolt : M6 x 1,0 x 12mm design Commençal

1 x axle  Ø8 x 65mm

1 x axle  Ø8 x 29.5mm

1 x axle  Ø8 x 45mm

1 x axle  Ø8 x 75mm

1 x axle Ø20 x 69mm M17

2 x bolt M17 x 18

2 x bushing Ø25 x 20 x 1.5mm

10 bolt M5 x 0, 8 x 12 mm

4 x bushing IGUS (10 x 12 x 18 x 4)

6 x bearing 608-2RS (8 x 22 x 7mm)

2 x bearing 61804-2RS (20 x 32 x 7mm)

1 x bearing 61904 2RS (20 x 37 x 9mm)

2x Screws M5x15

1x Linkage Suprême DH v3

1x BB cable guide YF-023

Complete Contact System 
axle kit

Rocker linkage complete kit for 
SUPER 4

SUPER 4 main pivot axle kit

M5 bolt kit

Bushings igus seatstay/
chain stay for SUPER4

Bearings for Meta Contact System

Bearings kit main pivot for SUPER 4

REAR HANGER RIGHT SUPER 4

WIRE LEADER UNDER BB YF-023x

900877

10520011

900819

10520002

900817

900841

900820

900802

900842

p.179 / dEalEr BooK 013

9 9 11

10 912 13 9 7 10

13

106 12 1 2 1 12 3 5 12 14 10 8 101010 14

11 4 4

aUtre pieCeS DetaCheeS / Other Spare partS

Elc
a

m
ino

2 whashers & 1 bolt M5 22x4mm 2 whashers & 1 bolt M5 22x4mm 1052000114

S S




